Part Lists & Sheme Angle grinder 1200 W, DEWALT DWE4217




Part Lists & Sheme Angle grinder 1200 W, DEWALT DWE4217

Item
No.

3

4

7

11
12
13
17
18
21
22
23
26
27
28
31
35
36
37
40
50
62
63
65
71
73
74
75
76
85
86
87
88
89
90
91
95

Product
Number

N423537
N372039
N413349
N437742
N093410
N097844
330065-06
N391187
N371839
330045-06
N297219
N389438
330065-09
593478-00
634599-00
631028-00
391969-00
N419748
N403730
N420261
N399419
949638-02
N390640
N107295
N429768
N178983
N178986
N443919
444793-00
N409481
N163702
605040-24
N400478
N481950
N307625
641823-00

Qty

P PR RPRPRRPRPRPRRPRPRRPRRPRRPRRPNRPRPRRPRPRPRPRPAERPROORLRODNRREREPRRERENLERLPR

Product Description

PINION

NUT
BRUSHBOX SA
LINK

SPRING
BUTTON
SCREW
HOUSING SA
SCREW
SCREW
SCREW
SCREW
SCREW
SCREW
TERMINAL
LEAD SA
INNER FLANGE
OUTER FLANGE
BRAND LABEL
O RING
BAFFLE FAN
DAMPER
FIELDCASE
HEX KEY 6 MM
SHROUD SA
BUFFING BRUSH
BUFFING BRUSH
LOOP HANDLE
CIRCLIP

GEAR

SPINDLE
BEARING
WASHER
RETAINER

O RING
SLEEVE

Type Other Info

38T-10T LONG
M7

M4 X 12 T20

M4 X 22 T20

M4

M4 X 40 X T20
M4 x 25
M3 X 8

M14

DWE46150 DWE4217KT
DWE4217KT
DWE4217KT
BAIL DWE4217KT
38T/10T

M14

6001

28 INTERNAL
1.5X 40



ltem
No.

96

97

99

101
102
103
104
105
106
107
108
800

Product
Number

N130916
N324400
N273780
N401958
N453031
N175104
N119639
N278899
N263579
N481683
N263699
583534-00

P PR PR RRPRRRPRNPRRE

Qty

Per

Product Description

BEARING
WASHER
SPRING
DEFLECTOR
RETAINER
BEARING

O RING
BUTTON
SPRING
LOCK PIN

O RING
GREASE 50 GMS

Type

25MM INT

5MM OD
Rheolube 380G1

Other Info



